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It is scientifically proven that elephants can communicate with each other over a distance of up to 10
km. using -------- whichisinaudible to Humans.

1. 37fcT3IeT [Supersonic]
2. AIH1Y [Infrasound]
3. #TeTaId [Ultrasound]
4. 317 [Audible]

T2  3icdeh STRIGR TIR dheledT Tl TR TTetefidh! HeTaR Saeidd Rl

The type ofimage produced by a concave mirror depends on -----------
1. JTRATT 3TMhR [Shape of mirror]

2. RSt A e el fRUCT [Position of object relative to the mirror]
3. IR I [Colour of object]
4. gep1eTrelt flerdT [Intensity of light]
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I TRIRIRI I Tt Iel e A A 1T — T, 988, THS, Hicd, A,

Arrange the following components of a food chain in proper sequence - grass, frog, eagle, insects,
snake

1.79d — Plh — dgd — AU — THS. [Grass — insects — frog — snake — eagle]

2.79d — HY — PHicdh — g — To8. [Grass — snake — insects — frog — eagle]

3.779d — AT — TH8 —> Dhich — dg®d . [Grass — snake — eagle — insects — frog]
4.7d 919 Mg [All are possible]

STREIGTT GeTrd RS 7d T 31Tg ?
What is the scientific name of China rose?

1. AT BT [Rosa rugosal

2. fRfepst Jem-RERM [Hibiscus rosa-sinensis]
3. 371 RARA9 [Rosa chinensis]

4. ST SHRHAT [Rosa damascena]

ThTIA SYUTATG ol WG cTdehl Ut FHIERRUT 3T 3MTg ?

Which of the following is the correct equation for photosynthesis?
1.CO,+H,0 — 0O,+CH,,0, 2.0,+C¢H,,0,— CO,+H,0
3.0,+C0O,— H,0+CH,,0Oq 4.H,0+CH,,0,— Co,+0,

ARICISTeT HHARCAT oY AT YT FTER BT YR g ?
How does a lack of Nitrogen affect the colour of plant leaves?

1. ?JT@ q oIl i, [lt causes themto turnred]

2. ?JTEEB* d e g, [Itcauses themto turn blue]

3. HT@ J foges g, [lt causes them to turn yellow]
4. HTQES SRRCKIGISE [ltcausesthemto turn green]

ISR TEUST 1 ?
Whatis pasteurisation?

1. fSTemu] ARUITATS 31~ Sehasvarrei U

[Aprocess thatinvolves boiling food to kill bacteria]

2. Ueh UfehdT SITHEY STETu] T8 ShRUITATS! TS ATGHIC SRIfdeh PBIcATaei=ATst 3 TR &or

[Aprocess thatinvolves heating food to a specific temperature for a specific time to kill bacteria]

3. T UohaT SATHER STGTU] T8 PRUITATST SIATHER HR&Th SIS0 FHTIIE 3T,

[Aprocess thatinvolves adding preservatives to food to kill bacteria]

4. TFaTo] ARUATRATST 37T NSAUTRY Hfsha

[Aprocess thatinvolves freezing food to kill bacteria]

31T SHTGATIRIS PITaTedd aRRg B gofad ?
What does the expiration date on a food product signify?

1. Fafy SIATST 311 Ha- RuTT aRRG

[The date when the food should be consumed for best quality]
2. Tt AR Siegl 31 ATY WIVIRITS JRI& e,

[The date when the food is no longer safe to eat]
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9. 10

9. 11
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3. STegT 31 Aot 3 off ARG
[The date when the food is at its peak freshness]

4. 371 Fafd uifte srad ot aRig

[The date when the food is most nutritious]

WlctleTth! BITdT 3Teivd &1 UehaHT o cgfaal ?

Which of the following graph shows uniform velocity?

] : 2.143. &414

SoleT ARTRATIR UehT ST ATl 3Te AT SMHcTHEN A TERTIRIT B R STUITST A1 HicHIER 3R gefaet
31T TR < 3icR fophalHiesme) fohdl! 3Ryt ?

Scale - 1 cm =50 km

1.35km 2.3500m 3.350km 4.[Both 1and 2]
Tl feneaty Aea fSoiear wmmed uifgel &t wroedr Hieg™ $gT JaeuN AUl wad e,
AT ST HHhaGGe YT By ey g arehdl! ?

A student observed that a candle flame goes out when covered with a glass jar. What can you conclude
about the role of oxygen in combustion?

1. SATTRATS! M faAoT 3T HATal. [Oxygen is not necessary for combustion]
2. SISTRATS STTfaaoT 319 31Mg. [Oxygen is necessary for combustion]
3. 3fffaaei fages R argad. [Oxygen increases the rate of decomposition]
4. 3NTfrAST Sacte ) HT . [Oxygen decreases the rate of combustion]

GTefletddh BIurT fSPHIuft et H™edT IR dhell STTal 2

Which of the following uses an electromagnet?
1. qrheTal TR UU [Abicycle tire pump]

2. TR 3N [Atoasteroven]
3.9 feeaer [Ametal detector]
4. T FeA [Acamera flash]
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SFREH T STGBUITAT Sl &R IR fG ARapdl, PR ———— —

In the case of an incense stick or an agarbatti, the smoke at the lighted end of the stick moves in an
upward direction, itis because ------

1. UcoiedT I T Wil 3TAciel! U gaT Sl a¥ed] TNY gad] ST e,

[the cool air below the lighted end moves to take to place of hot air above the lighted end]

2. I80] rehIaNiaT gaT 37feIdh TTe 3d.

[the air atthe hot end is more dense]

3. R R IO TTHIAD 31T,

[itis natural for the smoke to move up]

4. g eAT ToeaTehUTos €R G BIall.

[the smoke is repelled by the gravity of earth]

feeiean yafaimes 2w gafy frae,

Select the choices, correct alternative from the given.

TRTITE (A) : UTOATT feeied aRHTR JATBRHATT 4°C T UToT=AT Jaid 0°C R SR 1R,

Assertion (A) : The volume of a given mass of water is more at 0°C when compared to water at 4°C
BRU(R): Il AT ATIH 0°C TReT 4°C TR d1ed cegl uTodTarT R g,

Assertion (R) : Water expands when its temperature is increased from 0°C to 4°C.

1. AT R Il e 3TTed M1 R AT A1 TIIhuT 31T,

[BothAand R are true and R is the correct explanation of A]

2. ASTITOT RQIFE! T 37Ted UR R 8 AT I TR0l AT

[BothAand R are true, but R is not the correct explanation of A]

3. A 31Tg UUT R 31T 31T

[Aistrue butRisfalse]
4, AT R SIgT 3RIT 3R,

[BothAand R are false]
ST G JRITRRUT UGHc WTetietih! pIoTe RIGHTATER STaeiad 3iTg ?
Whatis the basic principle behind chromatography?

Filter
Paper

Spot of
Ink

Water

1. JITATET GIAUTTE fAgTead [Dissolving the mixture in a solvent]

2. JIATET TGTeIfeT SecheAidh [Separating the mixture based on their boiling points]

3. TS UgTef foREras v TUTer [Separating the mixture based on their solubility]

4. TeTY T TR AU GraehTciier fagTeddT TN fRR 3RAeIeT MesUl TG ferhet RTgUd T &

[Separating the mixture based on their differential migration]

(4)
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AT AT NI WTetIeTih! BT 1 ?
Which of the following should we ‘DO’ during a Tsunami?
1. STTCT UTEUITHTSH feheiT=aToTars XaT

[Stay near the shore to watch the waves]

2. FRPTT=TIRIT aTeR fFrervaTya S1feepet <arauitelt wetar e

[Wait for an offcial warning before evacuating]
3. AESdId 39 SR / fSHIUMER ST, [Head to higher ground immediately]

4. T BT fohar fegfeatt €T [Take pictures or videos of the tsunami]
Ueffed) A iorene Rl Wiefiede! Siurd ?

Whatis the function of mitochondria in cells?

1. T =T FeRauTd oot =TT Rt

[Generate energy in the form of ATP]
2. AerH et 9fem STTfor geR UL ared -ior

[Transport proteins and other molecules within the cell]

3. 92 a1IfoT forftgs GaTRa awol, SHaRT ATaul ST Tehfard dheur

[Modify, sort and package proteins and lipids]
4., YT ST AR Ui de=am faeresT avor

[Contain digestive enzymes for breaking down cellular waste]
AT AT aciiel €amia o 3igIT 27T

The speed of sound in air at room temperature is approximately:

1.343H /A [343 m/s] 2.1000 9t/ [1000 m/s]
3.186,000 1t /31 [186,000 m/s] 4.3.00 x 10°H} /34 [3.00 x 10° m/s]
STTARTERT g foATaIT & S5 el DI 3118 ?

Whatis the main purpose of International Frog Day?
1. aREA et S ieaT HEcdTaTad STSTRI )

[To raise awareness about the importance of frogs in the ecosystem]

2. AR SeapTd! fafderar At o

[To celebrate the diversity of frogs around the world]
3. Igb AT TITHT AT < [To promote frog conservation efforts]

4. TR0 4 [All of the above]
ugTIfel STRAT AT STFetedT AT B! Afed 3Rieied] HITDS BIVIN a8 Fgulord

What is the process by which substances move from an area of high concentration to an area of low
concentration?

1. IRRIROT [Osmosis] 2. Td\= [Diffusion] 3.7Te80I [Filtration] 4. 3TF¥FTAA [Active transport]
LPG aRIcT UHEI AU 301 e € QI cd 30:70 IT THTUINT ST, Tl aRiRied 3R U SDIvTe]

PRI T Tt STITER e FHSLH AT ST I1dT TRATS HE) —————— g diter g fafere arra
AT STCUIHIUIN fiRicetel 3R, AT LPG = Tebcl! 3T oRTd oTefTd 2.

LPG gas mainly consists of propane and Butane in the ratio of 30 : 70. It is odourless, but it contains a
small quantity of -------- a strong and distinctive smelling chemical, to prevent accidents and detect it
immediately afterits leakage for any reason. Leakage of LPG can be noticed immediately.

1. 3t areapIglet [Ethyl Alcohol] 2. 3195 FRepeeA [Ethyl Mercaptan]
3. 3941 [Ethanol] 4. 31 I [All of the above]

(S)
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ST Tt e R ugref T 3T e ugref efg YRuaTTe! Wiefiettich aturea foRdre aTuR
ENISISING

How does a thermos flask keep hot liquids hot and cold liquids cold?

1. IETIGAR BIUTR SVl ERAIeR I [By preventing heat transfer through conduction]

2. HIgIGaR BI0TR STl BRI I [By preventing heat transfer through convection]

3. URvuicd gl Qwﬁﬁmﬁﬁﬁ [By preventing heat transfer through radiation]

4. JOTCT GRACRUITET <7 UGHITTGaR GIUTR ISVl ERTTeR0T R

[By preventing heat transfer through all three modes of heat transfer]

ITSTRI NTURIT 866G UTIERHEd WG (HTIA Tl ) AT JFglell dhodet IR ol HHS
INBGTIATS! Tre! WieteTdeh! DIVT UGEITAT STdeid TTed ?

If you come to know that turmeric powder brought from the market is adulterated with Metanil yellow,
which of the following methods should you use to identify it?

1. E5G! STV foRRI SThedT ATeRTR I UTC Blal! JTaRo- §o5a HEY VRIS ST dhabel.

[If glycerine is added to the turmeric solution, a reddish colour is obtained, which indicates that the
turmericis adulterated]

2. EHGIT YO GIaumged A gRISIadlNG e THIRN AR T A TeRe BRI IRTTT

%5 [If strong hydrochloric acid is added to a solution of turmeric in water, a reddish colour is
obtained, which indicates adulteration]

3. EBCHEY ARG STV CIhTA BRAS ATl FTT] Ble el ATdR gode e UFes 3AIT dhoded.

[If sugar solution is added to the turmeric, the turmeric will turn red in color, which indicates that the
turmericis adulterated]

4. gQe ST GTavT TR 8g olle] ST e WSS AT hoddl.

[If salt solution is added to turmeric, if the turmeric turns red, it will be known to be adulterated]
20 fohaAH AT el FUTC T TSI e 2N 30 g1 Adedrar 50 HIeR IR Wd Tefl, Teg]

ST fobclt Bt et ?

Acar of mass 20 kg moves in a straight line for 50 m when a force of 2N is applied on a flat and smooth
road, how much work is done by the force?
1.1000J 2.2000J 3.200J 4.100J

ST STHIER ST TSedTHR 3F1eh ATl ATse UINUITH I, TTeieieh! BIoTaT Ui gl QTR gea
SEDIUINCIGIN

Alightning strike has many good and bad effects, which of the following is scientifically helpful -------

1. STfEf ¢ 8101 [Soil Erosion]
2. ARSI G ARG AT IR TfhIT B ARG STavTes I adR il

[atmospheric nitrogen and oxygen react with each other to to produce nitrogen oxide]
3. o Fotges gadiel SAffaTora TsiH Fed HUeR 8l

[Oxygen is converted to ozone due to electrical energy]

4. 93t 2 30T 3 [Option 2 and 3]

~
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STATfere g fgf ———————— 1 fegeft AR .

Which day is observed as world forest day?

1.1 f$AR [1° December] 2.55A[5" June]

3.21 9 [21% March] 4.30 3idersR [30" October]
eIl |afd ST U8 HIurd ?

Which one is the smallest planetin our solar system?

1. 94 [Mercury] 2.7 [Jupiter]

3. g¢p [Venus] 4. 97 [Saturn]

qifeTal oRf ——————- I et

--------- invented polio vaccine.

1. 3TiFRTe) FAfi [Alexander fleming] 2. ¥Ted [Salk]

3.%79¢ g [Robert Hookel] 4. 788 S+ [Edward Jenner]
—————— T MR IR T STl 37T

--------------- disease is completly eradicated from India.

1. Aot [Polio] 2. HfIE-19 [Covid-19]

3.7s9 [AIDS] 4. BHERNT [Cancer]

NS 2Ner DIvft ATereT ?

Who discovered oxygen?

1. SRt [Priestley] 2. BEIHTS [Rutherford]
3.T8q8 9+ [Edward Jenner] 4.9t [Moseley]

AT GoaTdier Uepl fSmumurd Scaver 15 6., Frerd. Fav 8fd . ufeewen area @) of goardean
fSPTOMIRET fohcft BfeRTeR 37T

Tanaya walks 15 k.m. towards North, then she walks 8 k.m. towards West. How far is she from the
starting point?

1.23 2.17

3.18 4.13

TSTFAT STl UITIShH 5 @ ShHieh d Qrac 39 dT ShHich Ml o) fored Tt YepuT fagmeft fanctt

Pradnya ranked 5th from the top and 39th from the bottom in a class. How many students are there in
the class?

1.44 2.43

3.42 4.45

feetean amgia frepor wwear fadt ?
How many triangles are there in the given figure

1.30 2.24
3.39 4.16

T Wetlel TeTc et Repram Srft Jw 37cp one.

5
322 Find the missing number.
13] 7123 1.4 2.17
3.21 4.31

~
~
~
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SIS 3TTgheiia fapel I 3mea 2 5. - 73]

How many squares are there in the following figure?
1.14 2.16
3.22 4.12

8y 5Hfg=TER Teput fapelt Afg giciiet ?

How many months are there m 8 yr. 5 month?
1.85 2.96 3.68 4.101

ForQ.37to 39

9. 37

9. 38

9.39

9. 40

9.41

Y. 42

9.43

Y. 44

q¢ feoiedn TR e sfgeard e fRie a1 g rarelt feledr neAmdial oF aufd A arg K=
SRIIIUIT=IT ATl JTefeh U e,

From the four logical diagrams given below select the one which best illustrates the relation ship
among the three given classes.

e &

Hed , afe , BEDCH
Fruits , Mango , Apple
Marathi speakers , English speakers , Hindi speakers
HERTE : ORI ;W
Maharashtra : Gujrat , Pune
SR [If] 4/\3=192

5/\2=250

3A4=108
TN [Then] 2A6=7?
1.12 2.24 3.36 4.48
A SrTerea foud et SRIST & T oS e SRIARIET 42 7 SR 3778, oR T A wafa
g g Haid ArceT et ST ot a8 2

The sum of the three consecutive odd numbers is greater than their average by 42 what will be the
addition of the smallest and the greatest number?
1.21 2.63 3.42 4.89

391, 40 S asaTsmT aradier g ffSiewrer arand fhdt 79T B gl ?
What will be the angle between the hour hand and the minute hand at 3.40 ?
1.120° 2.130° 3.140° 4.150°

1 g U9 Mgl STReMd e Hicr T wheft et o uafll Icar el 7 fH1feerd o,

Find out the mirrorimage of each of the following question figure from the given alternatives.

963] 1[369 2.| £E0€ 3.1@0€ | 41963

1 gemefet qTodTcier ufcrfed el fSier o gt Icor Sirepciiaed fHfedd o,

Find out the water image of each of the following questions figure from the given alternatives.

PAN| 1.|WAY 2. | bV 3.|PAN] 4 |NVb

“TTTTRRRRTTITRTITINRTR




U.45  meAfeETean ST aw wee vty fas.

Find the number from the given options that can replace the question mark.
25 16 30 32 35 48 40 ? 45

1.64 2.50 3.8 4.80

T.46 Ul Aihiad ANT MOUSE 7T 916G 131521195 31T foifgel, TR @/ Ad TIGER & 9eg &1 feifgan
BEC
In a code language the word MOUSE is coded as 131521195 then what is the code for the word
TIGER?
1.1987518 2.2097518 3.1897519 4.2097618

For Q. 47 to 49
fSelean smapdidier F¥aT R favaid! 3ae SRUR facameff qrRaaar. g smadte e de
GTellel Yo Ik feeiedr gafame e,

The number in the figure show number of students liked different subject.
Observe the figure and choose the answer from given alternatives for following questions.

A SSHI]
[drawing] &%& [music]
— T
[dance]

.47 o8 Qg srasuR faeameff fasdt 2

How many students liked all three subject?
1.119 2.195 3.21 4.46

U.48  had DIURKIE! QI [ SISV fagaeff facft 2
Find number of students liking only two subjects?
1.139 2.98 3.87 4.93
T.49 a7 aed N1 R qiaral [T aedTa AT et {5 amasd el 3 ot fagameff g 2

Find the number of students who liked Music and Dance but not liked Drawing?
1.206 2.232 3.185 4.139

T.50 YRl APl faetedT AL Ueh fAfRTE 1w 31Tg Al 3ilewd Uefmgredt SR a1 vty forgr.

In the following figure numbers are written with a specific rule. Find the rule and decide which
alternative will be in place of question mark.

8 6 3

1.29 2.24 3.51 4.27

(3mueaT wemufada 50 ueT 3™Ted™ (OMR Answersheet) Scax Ufishd W27 @Hid 1 o 50 Gaa Scar Aigardid. )
(a1 geTuferdt IR T (Answer Key) €/ fGad www.drevramanexam.in J9RI5caR U gl )




